-

SRIK IS AT e - 2BEHO . - KIS AT HiZfE . K
45 H(R 55 (R #£ {8 (mg/L pag YN &
EKEHHE R6.4.16 R6.6.4 R6.79 | R6.10.15 | R6.11.27 | R7.1.7 R7.25 | R6.4.16 | R6.6.4 R6.79 | R6.10.15 | R6.11.27 | R7.1.7 R7.2.5 R6.7.9 R6.7.9 R7.2.5 R7.2.5 R6.4.16 | R6.5.8 R6.6.4 R6.7.9 R6.86 | R6.9.11 %6'1100'125 R6.11.5 | R6.12.3 R7.1.7 R7.2.5 R7.3.5 ®KERAAR R6.6.4 R6.6.4
EKEEZ 10:12 10:05 13:15 9:40 10:27 11:30 9:50 9:55 10:35 13:45 10:10 10:19 11:45 10:18 9:35 9:57 10:57 10:52 10:32 12:50 11:05 10:24 10:10 11:25| 10:00{ 10:35 11:27 10:40 11:12 11:25 10:45 FEKEEZI 10:05 10:35
Xix =l B BEh BEn BB =Y BN =l BEh BEh B BN =) BN =l =l BN BN BEn BEn BN =l BEn Bn| B Bh =l BEn =Y BEh 551 Kix Bh BEh
sum (°C) 20.0 16.0 30.6 19.8 15.9 9.0 45 21.2 18.0 335 20.0 15.6 12.2 7.0 29.2 32.0 6.0 6.0 21.8 22.0 25.5 34.4 30.1 320/ 28.0| 225 19.8 17 11.0 75 6.0 Sum (°C) 16.0 18.0
Kig (°C) 16.2 16.9 17.0 17.0 15.8 15.0 15.0 16.8 16.9 16.8 16.6 15.5 15.0 15.2 21.5 21.0 14.0 14.8 16.2 20.2 22.2 26.0 29.8 275 25.1] 246 20.4 16.0 11.2 11.0 12.2 JKiE (°C) 16.9 16.9
1| — i E 0 0 3 0 100{ALLTF 0 0 0 0 0 0 0 0 0 0 0 0 1[1.3->40o07nXR2(D-D) 0.05 5 HE <0.0002| <0.0002
2| KIG&E (£33 et P et BHShEGWNIE EE [E1E3 2t P [EES 2t E3ES E3ES (£ (£33 fEtE EtE 2|EPN 0.004 BREHF <0.00005] <0.00005
|AREVLRUZDIEEY <0.0003 <0.0003 <0.0003 <0.0003 0.003LLF <0.0003 3|MmcPA 0.005 BREH <0.0003]  <0.0003
4KEBRUVZDIEEY <0.00005 <0.00005 <0.00005 <0.00005 0.0005LLF <0.00005 4|7 a5, 0.9 BREH <0.009 <0.009
5| LU RUZDIEEY <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 5|7t2x—k 0.006 B R H <0.0008|  <0.0008
6|8 RUVZDIEEY <0.001 <0.001 <0.001 <0.001 0.01LLTF <0.001 6|1V FXHFAY 0.005 B RHl <0.0003|  <0.0003
1EZRUVZDILEY 0.001 0.001 0.001 <0.001 0.01LLF <0.001 1147 0F A5 0PT) 0.3 BEH <0.003 <0.003
8|/NflizOLIE &Y <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 8l47aRHRR(IBP) 0.09 BEH <0.0009|  <0.0009
O|HIHMERER <0.004 <0.004 <0.004 <0.004 0.04LLF <0.004 A2/ DRy 0.006 BREF <0.00006]/ <0.00006
10[T7NEMAA U RUOEIEL T <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 10lTkozo7avs R 0.08 A <0.0008]  <0.0008
R EERRUEHEBEER 15 1.6 0.3 0.4 10LLF 0.30 NPy 0.02 BREH <0.0002|  <0.0002
1229 RUVZDILEY <0.08 <0.08 <0.08 <0.08 0.8LLF <0.08 12|74 % 28R BEER) 0.03 BREH <0.0003]  <0.0003
13| [EFSFRRUVZEDILEY <0.1 <0.1 <0.1 <0.1 1.0LUTF <0.1 13|HILEy T 0.08 B aEl <0.003 <0.003
14|Mig 1L iR E <0.0002 <0.0002 <0.0002 <0.0002 0.002LLF <0.0002 14{A)L731) )L(NAC) 0.02 FaF <0.0003] <0.0003
15(1,4-CF x> <0.005 <0.005 <0.005 <0.005 0.05LLF <0.005 15| F v T2 0.3 BEE <0.003 <0.003
LZ-12-CHOAIFLURY > '
16 FSUZR-12-HO0TFLY <0.002 <0.002 <0.002 <0.002 0.04LLTF <0.002 16|45 kY —hk 2 BREH <0.02 <0.02
174084482 <0.001 <0.001 <0.001 <0.001 0.02LLF <0.001 17[F LR R—b 0.02 BREH <0.0002|  <0.0002
18|7hS/O0nTFL Y <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 18[40)LEY KRR 0.003 R E <0.0002|  <0.0002
19[r)7OOTFLY <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 19[400%40=)L(TPN) 0.05 BEFE <0.0005|  <0.0005
& [ 20[Ro€D <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 20|37 /7R A(CYAP) 0.003 R HF <0.00003| <0.00003
21|18 F R 0.6LLTF <0.06 0.11 <0.06 <0.06 21|>40J)LRX(DDVP) 0.008 B RH <0.00008| <0.00008
22| 7 OO BEER 0.02LLF <0.002 <0.002 <0.002 <0.002 22|97 vk 0.01 BREE <0.00005| <0.00005
) 23|70k L 0.06LLF 0.012 0.016 0.011 0.004 B|[CFAHILNA—FREE 0.005] zZ&E#l. &aK | <0.00005] <0.00005
# | u[CHonFE 0.03LLF <0.002 0.003 <0.002 <0.002 24| AT —F 0.05 5 BE <0.0005|  <0.0005
25|>J O 00458 0.1LLF 0.007 0.009 0.005 0.006 e | 25| 34T/ 0.003 B E <0.00005| <0.00005
26| RRER 0.01LLTF <0.001 0.002 <0.001 <0.001 = 26[F 4 Lo 0.8 BREA <0.008 <0.008
5| 27 wryAQASY 0.1LLF 0.029 0.038 0.024 0.018 ” 27 Zéﬁ;")b’f‘ f;”j;ﬁ;;_h 0.01|R&E - = -FREHI| <0.00002( <0.00002
28| S OOEF R 0.03LLF <0.002 <0.002 <0.002 <0.002 = [28[F 55 L 0.02 REH <0.0002|  <0.0002
2|7 0FDH/O0A8Y 0.03LLF 0.008 0.010 0.007 0.006 29|FATAHILD 0.08 FHE <0.0008]  <0.0008
30/ JBERILL 0.09LLF 0.002 0.003 0.001 0.002 x5 | 30 FAI7R—EAFIL 0.3 BEH <0.003 <0.003
B | 31[/RILLFILTER 0.08LLF <0.008 <0.008 <0.008 <0.008 =131 [TIYUILR)AY 0.002 BREH <0.00002| <0.00002
R|FBIMBVZDIEEY <0.01 <0.01 0.010 <0.01 1.0LF <0.01 32|k 4 0O)L7R(DEP) 0.005 FHE <0.0004| <0.0004
B|TILZIZOLBRUVZDIEEY <0.02 <0.02 <0.02 <0.02 0.2LLF <0.02 33|kYTILSYY 0.06 BREH <0.0006]  <0.0006
UHERVZDIEEY 0.06 0.06 0.07 0.06 0.02 0.03 0.02 0.01 0.3LLF <0.01 34[/85a—k 0.01 BREE <0.00005| <0.00005
B|FHRVZDIEEY <0.01 <0.01 <0.01 <0.01 1.0LLF <0.01 3B|ES70=)L 0.01 BREA <0.0001]  <0.0001
36| FRIDLRUVZDIEEY 12 11 10.0 9.8 200LLF 13.0 36/2470=)L 0.0005 B RH <0.000005| <0.000005
3NRVARUVZEDILEY 0.016 0.007 0.034 0.037 0.007 0.005 0.005 <0.005 0.05LLF <0.005 37|72z =kBF#4>(MEP) 0.01 H AR Al <0.0001|  <0.0001
38|1EIEmAA 17 17 15 15 200LLF 15 16 16 15 17 16 14 15 16 15 17 17 38| 7z F A (MPP) 0.006 B RHF <0.00006/ <0.00006
AT HOL, RTRIHLE FEE) 130 130 110 110 300LLF 96 100 87 120 39[2x kT —KR(PAP) 0.007 HBEl <0.00007| <0.00007
40| ZFKEEY 250 260 210 270 500LLF 190 210 200 200 40[TH#3RR 0.02 BREE <0.0002[ <0.0002
MN[EAAREEHER <0.02 <0.02 <0.02 <0.02 0.2LLF <0.02 MN|TIVTOF L 0.03 BEH <0.0003]  <0.0003
| TARIV <0.000001 <0.000001 0.00001LLF <0.000001] <0.000001| <0.000001 | <0.000001 421703 3FY 0.09 BEH <0.0009]  <0.0009
43[2-AF LAY RIL A=A —IL <0.000001 <0.000001 0.00001LLF <0.000001| <0.000001 | <0.000001 | <0.000001 43| 70F AKX 0.007 R E| <0.00009| <0.00009
44| FEAA R EmE RS <0.002 <0.002 <0.005 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 44170+ —)L 0.03 BEA <0.0003|  <0.0003
457z /—) 38 <0.0005 <0.0005 <0.0005 <0.0005 0.005LL F <0.0005 IPISESSEAS 0.1 BRE A <0.001 <0.001
46| EHMEH(TOC) <0.3 <0.3 <0.3 <0.3 LT 0.9 0.8 0.8 0.8 0.7 0.8 0.9 0.7 0.8 0.8 0.8 0.8 46|X/3)L 0.02 BEH <0.0002|  <0.0002
47|pH1{E 7.7 7.8 8.2 8.3 58LL F86LLT 7.8 7.8 7.8 7.8 7.8 7.9 7.9 7.8 7.8 7.7 7.9 7.8 47| RoH0y 0.1 BEH <0.001 <0.001
48|k HELGL LA EELGL EELGL ERETLEVWIE EELL| BEELL| EELGL| EEGL| BEELGL| EBLGL| EELGL| EELGL| BEELL| EELGL| EELL| EELGL 48| R RV 0.2 BREF <0.002 <0.002
IFEE HELL A EELGL EELL EETLEWIE| EELL| BEELL| EELGL| EFEGL| BEELGL| EBGL| EELGL| EELGL| BEELL| EELGL| BEELL| EELGL LR TA AR 0.3 BB <0.003 <0.003
50 B FE 0.8 0.9 0.7 0.7 S5ELLT <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 50(RN TS5 HILT 0.02 FZaEl <0.0002[ <0.0002
518 0.1 0.1 <0.1 <0.1 2BELLTF <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 51|/ RRFF7HE—F 0.005 5 RE <0.0002| <0.0002
52|RSFARFYY) 0.7 FHE <0.0005] <0.0005
B &1 (mg/L) 53| 370y 7 (MCPP) 0.05 BRELHI <0.0005|  <0.0005
HWZUFECRUZDIEEY <0.002 <0.002 0.02LLF 54| A3 )L 0.03 HHE <0.0003] <0.0003
2|05V RUZDIEEY 0.0006 <0.0002 0.002LL (1) 55[A25F L 0.2 BEA <0.0006| <0.0006
=vHILRUZDIEEY 0.02LLF <0.002 56| AF 3 FA > (DMTP) 0.004 % R <0.00006/ <0.00006
4| R
5[1,2->40RxT 4y <0.0004 <0.0004 0.004LLF
6|k &
K| 7k &
8lkILTY <0.001 <0.001 0.4LLF
B 97HILES 2-TFILAFII) <0.008 <0.008 0.08LLF
10| FHIEREE 0.6LLTF
Tl 11|k &
12| ZF{LiESR 0.6LLF
B 13[oy0a7wc=k)L 0.01 LA (x1) <0.001
14|38k 05—)L 0.02LLTF(*1) <0.002
B | 15|2&%g <0.01 <0.01 1LUTF
16|5%BiEF 1T 0.60 0.62 0.53 0.57 0.55 0.50 0.50 0.60 0.55 0.59 0.62 0.59
| 17|AISOL, ITARVOLE (BE) 10~ 100 100
18|RVAVRUZEDIEEY 0.01LLF <0.005
5% | 19[mEB e ER 4 i 20LLF
20|1,1,1-k)oOQxT R <0.001 <0.001 0.3LTF
E | 21[AFIL-t-TFILT—F )L (MTBE) <0.002 <0.002 0.02LLTF
2| E#ME (KMnO4EHEE) (x 2) LT 0.9 0.8 0.8 0.8 0.7 0.8 0.9 0.7 0.8 0.8 0.8 0.8
15 | 23| B &KGEE (TON) i <1 3LUTF <1
24| R FEZEY 30~200LLF 210
B 258E 1ELUTF <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1
26 |pHIE 1512 7.8 7.8 7.8 7.8 7.8 7.9 7.9 7.8 7.8 7.7 7.9 7.8
21|EBEE G TUTER) - 05 0.0 —1~0 0.0
28| EBRE 2 12 20001 F 0
29[1,1->4H/OaTFLY <0.001 <0.001 0.1LTF <0.001
0| FZILE=ZHLRUVUFDIEEY 0.1LLF <0.02
31|PFOS K TU'PFOA( * 3) <0.000001 <0.000001 0.00005LL T (x1) 0.000008
_ BB
HTRRR) DY L [ KGE BRHINA EYES [EYES [EYES [EIES EYES [EYES EYES [EYES
X EIEE BRIUEFRER OV AREFR) | BHShAN 0 0 0 0 0 0 0 0 S
DV oy p-prems [LX45FH0RK) — 0.64 0.17 0.24 0.63 0.18 0.49 — 0.24 0.34 0.41 0.31 1.87 0.35
it ~t— ui_ TE552 3 (EK) — 0.68 0.28 0.50 0.88 0.42 0.34 — 0.38 0.85 0.57 0.35 1.89 0.75
BAFEX %8 lpg—TEQ/LUTF| — | — | — | 0.015 0.0039
*x1:5%F
x 2. HAEIHH #46(TOC) TR A

* 3:PFOS(R)LI)LABOF IR ZILRUEE) RUPFOA(RILDILA QA IR EE)




